

(2m)

(11)  $\bar{A}^{-1} = \pm \frac{1}{\sqrt{|\text{adj}A|}} \text{adj}A$

$|\text{adj}A| = 9 \Rightarrow \sqrt{|\text{adj}A|} = 3$

$\therefore \bar{A}^{-1} = \pm \frac{1}{3} \begin{bmatrix} -1 & 2 & 2 \\ 1 & 1 & 2 \\ 2 & 2 & 1 \end{bmatrix}$

(12)  $A = \begin{bmatrix} 1 & -2 & -1 & 0 \\ 3 & -6 & -3 & 1 \end{bmatrix} R=2 \quad C=4$

$P(A) \leq 2$

2x2 determinant

$\begin{vmatrix} -1 & 0 \\ -3 & 1 \end{vmatrix} = -1 + 0 = -1 \neq 0$

$\therefore P(A) = 2$

(13)  $\frac{1+i}{1-i} = i; \quad \frac{1-i}{1+i} = -i$

$\left(\frac{1+i}{1-i}\right)^3 - \left(\frac{1-i}{1+i}\right)^3 = i^3 - (-i)^3 = -2i$

(14)  $x(x^8 + 9x^6 + 7x^4 + 5x^2 + 3) = 0$

$x=0 \quad x^8 + 9x^6 + 7x^4 + 5x^2 + 3 = 0$

Substituting  $x^2 = y$   
 $y^4 + 9y^3 + 7y^2 + 5y + 3 = 0$   
 Solving by trial and error.  
 $y = 2$  is a root.  
 $(y-2)(y^3 + 11y^2 + 25y + 6) = 0$   
 $(y-2)(y+1)(y+3)(y+2) = 0$   
 $y = 2, -1, -3, -2$   
 $x^2 = 2, -1, -3, -2$   
 $x = \pm\sqrt{2}, \pm i, \pm i\sqrt{3}, \pm i\sqrt{2}$

(15)  $x = 2 - \sqrt{3}$

$x-2 = -\sqrt{3}$   
 Squaring,  $(x-2)^2 = (-\sqrt{3})^2$

$x^2 + 4 - 4x - 3 = 0$   
 $x^2 - 4x + 1 = 0$

(16)  $1 + i \tan \alpha = \sec \alpha (\cos \alpha + i \sin \alpha)$

$r = \sqrt{1 + \tan^2 \alpha} = \sec \alpha$

$\frac{\tan^{-1}(\frac{\sin \alpha}{\cos \alpha})}{\cos \alpha} = \tan^{-1}(\tan \alpha) = \alpha$

$\therefore 1 + i \tan \alpha = \sec \alpha (\cos \alpha + i \sin \alpha)$

(3m)

(17)  $\begin{bmatrix} 5 & 2 \\ 3 & 2 \end{bmatrix} \begin{bmatrix} x \\ y \end{bmatrix} = \begin{bmatrix} 3 \\ 5 \end{bmatrix}$

$X = A^{-1}B$   
 $\text{adj}A = \begin{bmatrix} 2 & -2 \\ -3 & 5 \end{bmatrix} \quad |A| = 4$   
 $\therefore A^{-1} = \frac{1}{4} \begin{bmatrix} 2 & -2 \\ -3 & 5 \end{bmatrix}$

$X = \frac{1}{4} \begin{bmatrix} 2 & -2 \\ -3 & 5 \end{bmatrix} \begin{bmatrix} 3 \\ 5 \end{bmatrix} = \begin{bmatrix} -1 \\ 4 \end{bmatrix}$

$x = -1 \quad y = 4$

(18)  $\bar{z} = (2+i\sqrt{3})^{10} - (2-i\sqrt{3})^{10}$   
 $\bar{z} = (2-i\sqrt{3})^{10} - (2+i\sqrt{3})^{10}$   
 $= -[(2+i\sqrt{3})^{10} - (2-i\sqrt{3})^{10}] = -z$   
 $\therefore z = 0$

(19) LHS =  $(\cos \frac{\pi}{6} + i \sin \frac{\pi}{6})^5 + (\cos \frac{\pi}{6} - i \sin \frac{\pi}{6})^5$   
 $= \cos \frac{5\pi}{6} + i \sin \frac{5\pi}{6} + \cos \frac{5\pi}{6} - i \sin \frac{5\pi}{6}$   
 $= 2 \cos \frac{5\pi}{6} = 2 \left(-\frac{\sqrt{3}}{2}\right) = -\sqrt{3} = RHS$

(20)  $x^2 = y$   
 $y^2 - 14y + 45 = 0$   
 $y = 5 \quad y = 9$   
 $x^2 = 5 \quad x^2 = 9$   
 $x = \pm\sqrt{5} \quad x = \pm 3$   
 $\therefore x = \pm\sqrt{5}, \pm 3$

(21)  $(2^x)^2 - 3(2^x \cdot 2^2) + 2^5 = 0$   
 $(2^x)^2 - 12(2^x) + 32 = 0$   
 $2^x = y$   
 $y^2 - 12y + 32 = 0$   
 $y = 8 \quad y = 4$   
 $2^x = 8 \quad 2^x = 4$   
 $x = 3 \quad x = 2$   
 $\therefore \text{Solutions: } 2, 3$

(22)  $\text{adj}A = \begin{bmatrix} 3 & 3 \\ 2 & 4 \end{bmatrix}$   
 $A(\text{adj}A) = \begin{bmatrix} 12-6 & 12-12 \\ -6+6 & -6+12 \end{bmatrix} = 6 \begin{bmatrix} 1 & 0 \\ 0 & 1 \end{bmatrix}$   
 $(\text{adj}A)A = \begin{bmatrix} 12-6 & -9+9 \\ 8-8 & -6+12 \end{bmatrix} = 6 \begin{bmatrix} 1 & 0 \\ 0 & 1 \end{bmatrix}$   
 $|A| = 12 - 6 = 6$   
 $\therefore A(\text{adj}A) = (\text{adj}A)A = |A|I$

(5m)  
 (23)  $c - 3b + 9a = 21$   
 $c + 5b + 25a = 61$   
 $c + b + a = 9$   
 $[A|B] = \left[ \begin{array}{ccc|c} 1 & -3 & 9 & 21 \\ 1 & 5 & 25 & 61 \\ 1 & 1 & 1 & 9 \end{array} \right]$   
 $\sim \left[ \begin{array}{ccc|c} 1 & -3 & 9 & 21 \\ 0 & 8 & 16 & 40 \\ 0 & 4 & -8 & 12 \end{array} \right] \begin{array}{l} R_2 \rightarrow R_2 - R_1 \\ R_3 \rightarrow R_3 - R_1 \end{array}$   
 $\sim \left[ \begin{array}{ccc|c} 1 & -3 & 9 & 21 \\ 0 & 1 & 2 & 5 \\ 0 & 1 & -2 & 3 \end{array} \right] \begin{array}{l} R_2 \rightarrow \frac{R_2}{8} \\ R_3 \rightarrow \frac{R_3}{4} \end{array}$

$$\sim \begin{bmatrix} c & b & a & | & 21 \\ 1 & -3 & 9 & | & 21 \\ 0 & 1 & 2 & | & 5 \\ 0 & 0 & -4 & | & -8 \end{bmatrix} R_3 \rightarrow R_3 - R_2$$

$-4a = -8 \implies a = 2$   
 $b + 2a = 5 \implies b = 1$   
 $c - 3b + 9a = 21 \implies c = 6$

$$\frac{z-1}{z+1} = \frac{(x-1) + iy}{(x+1) + iy}$$

$$\text{Arg}\left(\frac{a+ib}{c+id}\right) = \tan^{-1}\left(\frac{bc-ad}{ac+bd}\right)$$

$$\text{Arg}\left(\frac{z-1}{z+1}\right) = \frac{\pi}{2}$$

$$\tan^{-1}\left[\frac{(x+1)y - (x-1)y}{(x-1)(x+1) + y \cdot y}\right] = \frac{\pi}{2}$$

$$\frac{xy + y - xy + y}{x^2 - 1 + y^2} = \frac{1}{0}$$

$$x^2 + y^2 - 1 = 0 \implies x^2 + y^2 = 1$$

$$(14) [A|0] = \begin{bmatrix} 1 & 1 & 3 & | & 0 \\ 2 & 1 & 2 & | & 0 \\ 4 & 3 & 1 & | & 0 \end{bmatrix} R_2 \leftrightarrow R_3$$

$$\sim \begin{bmatrix} 1 & 1 & 3 & | & 0 \\ 0 & -1 & -4 & | & 0 \\ 0 & -1 & 1 & | & -12 \end{bmatrix} R_2 \rightarrow R_2 - 2R_1, R_3 \rightarrow R_3 - 4R_1$$

$$\sim \begin{bmatrix} 1 & 1 & 3 & | & 0 \\ 0 & -1 & -4 & | & 0 \\ 0 & 0 & 1 & | & -8 \end{bmatrix} R_3 \rightarrow R_3 + R_2$$

1.  $\lambda \neq 8$   $\implies P(\lambda) = 3, P(\lambda|0) = 3$   
 $P(\lambda) = P(\lambda|0) = 3$   
 2.  $\lambda = 8$   $\implies P(\lambda) = P(\lambda|0) = 2 < 3$

$$(b) \begin{array}{l} 2 \left| \begin{array}{ccc|c} 6 & -35 & +62 & -35 & +6 \\ 0 & 12 & -46 & 32 & -6 \end{array} \right. \\ 3 \left| \begin{array}{ccc|c} 6 & -23 & 16 & -3 & 0 \\ 0 & 18 & -15 & -3 & 0 \end{array} \right. \\ \frac{1}{2} \left| \begin{array}{ccc|c} 6 & -5 & 1 & 0 \\ 0 & 3 & -1 & 0 \end{array} \right. \\ \frac{1}{3} \left| \begin{array}{ccc|c} 6 & -2 & 0 \\ 0 & +2 & 0 \\ 6 & 0 & 0 \end{array} \right. \end{array}$$

$\therefore$  Eigen values  $2, \frac{1}{2}, 3, \frac{1}{3}$

$$(25) \begin{cases} 3a - 4b - 2c = 1 \\ 1a + 2b + 1c = 2 \\ 2a - 5b - 4c = -1 \end{cases}$$

$$\Delta = -15 \quad \Delta_a = -15$$

$$\Delta_b = -5 \quad \Delta_c = -5$$

$$a = 1 \quad b = \frac{1}{3} \quad c = \frac{1}{3}$$

$$(x, y, z) = (1, \frac{1}{3}, \frac{1}{3})$$

$$(b) \begin{array}{l} -1 \left| \begin{array}{ccc|c} 2 & 11 & -9 & -18 \\ 0 & -2 & -9 & +18 \\ 2 & 9 & -18 & 0 \end{array} \right. \\ \hline 2x^2 + 9x - 18 = 0 \\ (2x-3)(x+6) = 0 \\ x = \frac{3}{2} \quad x = -6 \\ \text{Eigen values: } \{-1, -6, \frac{3}{2}\} \end{array}$$

$$(26) (i) \begin{cases} x = \cos \alpha + i \sin \alpha \\ y = \cos \beta + i \sin \beta \end{cases}$$

$$1. \frac{x^m}{y^n} = \frac{\cos m\alpha + i \sin m\alpha}{\cos n\beta + i \sin n\beta} = \cos(m\alpha - n\beta) + i \sin(m\alpha - n\beta)$$

$$\frac{y^n}{x^m} = \cos(m\alpha - n\beta) - i \sin(m\alpha - n\beta)$$

$$\therefore \frac{x^m}{y^n} - \frac{y^n}{x^m} = 2i \sin(m\alpha - n\beta)$$

$$(ii) x^m y^n = (\cos m\alpha + i \sin m\alpha)(\cos n\beta + i \sin n\beta)$$

$$= \cos(m\alpha + n\beta) + i \sin(m\alpha + n\beta)$$

$$\frac{1}{x^m y^n} = \cos(m\alpha + n\beta) - i \sin(m\alpha + n\beta)$$

$$x^m y^n + \frac{1}{x^m y^n} = 2 \cos(m\alpha + n\beta)$$

$$(b) x = \sqrt{5} - \sqrt{3}$$

SoBS,  $x^2 = 5 + 3 - 2\sqrt{15}$   
 $x^2 - 8 = -2\sqrt{15}$   
 SoBS,  $(x^2 - 8)^2 = (-2\sqrt{15})^2$   
 $x^4 + 64 - 16x^2 = 60$   
 $x^4 - 16x^2 + 4 = 0$